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Use the place value chart to complete the equations.

1. tens ones tenths hundredths thousandths

× 10

× 10

0.8   × 10 × 10 = 

0.8   × 100 = 

0.8   × 10       =

2. tens ones tenths hundredths thousandths

÷ 100

0.6 ÷ 100   = 

0.6   ÷ 10       =

3. tens ones tenths hundredths thousandths

÷ 1000

30   ÷ 1,000 = 

30   ÷  10     =

  

 

     

  

     

  

     

Find the product or quotient and write it in standard form.

  4 .    3.04 ÷ 10 =      5.  0.205 × 10 =     

 6. 3.205 × 10    3 =           7. 0.9   ÷ 10    2 =      
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 8. Make like units. Then add. Show your work.

   5  6  13+   18 =_        __     

Use the Read–Draw–Write process to solve the problem.

 9. A restaurant has a bag of potatoes that weighs  4   kilograms  500  grams . All of the potatoes need 
to be peeled. Kayla peels  1,841   grams of potatoes. Lac y peels  2,358   grams of potatoes. H ow 
many grams of potatoes still need to be peeled?
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